-26 /4
26 = 011010

-26  =  100101 + 1  =     100110

When dividing by 4 ,  k = 2   so need to add  2k -1  or  3

100110    = -26
000011   the  3 we are adding for the bias
101001   -26  with adjustment
Now shifting right 2 places  because we are dividing by 4
111010   is the answer  & is   -6

000101 +1  = 000110

+7 = 0111

If I multiply by 2, (shift all the bits left and add in a 0 at the right) I get  1110 which is obviously a negative number and it shouldn’t be.  Therefore,  it overflowed.

